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TABLE 6.2.1 Elementary Laplace Transforms
F) = LHF(s)) F(s) = L{f ()} Notes
1.1 1, s> 0 Sec. 6.1, Ex. 4
5
1 .
2. R s>a Sec. 6.1;Ex. 5
s —a
!
3. t", n = positive integer n’.l , s >0 Sec. 6.1; Proh. 27
Sf'l‘?‘
4., pe -1 pdD 0y Sec. 6.1; Prob, 27
S[H»l
. a
5. sinar 5 . s>0 Sce. 6.1 Ex. 7
52+ a*
6. cosat = u =, s>0 Sec. 6.1; Prob. 6
2 +a?
7. sinhar 2 ss Sec. 6.1; Prob. 8
§2 —a?
8. coshar 5 u =, s > lal Sec. 6.1; Prob. 7
s —a?
. b
9. e*sin bt e s>a Sec. 6.1; Prob. 13
(s —a)yr + b?
s—a
10. e cos bt e s>a Sec. 6.1; Prob. 14
(s —a)? + b2
!
L. t"e”,  n = positive integer —i* §>a Sec. 6.1; Prob. 18
(S — a)n+l
‘ e—(,‘.\'
12, u.(t) s s> 0 Scc. 6.3
;
13. u()f(t —¢) e F(s) Sec. 6.3
14. e“f(n) F(s—¢) Sec. 6.3
1 /s -
15. fen i (f) . >0 Sec. 6.3; Prob. 25
¢ \¢
1
16. / fa—ngr)ydsr F(s)G(s) Sec. 6.6
0
17. 8t —¢) e~ Sec. 6.5
18. f™ () STF(s) — " (0) — - — D) Sec. 6.2
19. (=0)*f(r) F(s) See. 6.2; Prob. 28
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